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(1) 22 +8x + 7 (2) 22 + 62 +5

IR 2. ROXEZRE MR LR SV,
(1) 22 — 3z +2 (2) 22 — 9z + 8
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(1) 22 + 3z — 4 (2) 2> +4z -5
(5) 22 + 22 — 8 (6) 22 + 42 — 12

I 4. ROXEZREGE LRI,
(1) 22 + 2 — 42 (2) 22 — 3z — 18

(5) y* +4y — 12 (6) y> —y —20
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(3) 22 + 10x + 16

(3) 22 — 11 + 18

(3) 2?2 —x—2

(7) 22 — 32 — 10

(3) a®* —4a +3

(7) t* — 7t — 30

(4) 22 + 92 + 18

(4) 2% — Tz + 10

(4) 22 — 62— 7

(8) 22 — 8x — 20

(4) a2 4 2a — 8

(8) t? + 13t + 12
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(1) 2 + 4z + 3 (2) 22 + 10z + 9 (3) z? + 62 + 8

M 2. WROXZ KB LIRS0,
(1) 2% — bz +4 (2) 22 — 12z + 11 (3) 22 =5z +6
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(1) 22 +2x — 3 (2) 2> + 52— 6 (3) 22 —3x — 4
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(4) 22 4 16z + 28
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(4) 22 — Tz — 8

(8) 2 — 2z — 35

(4) a®> —a—6

(8) t2 —3t+2
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